
SAP ABAP table GLSO3 {FI-SL LI Table with Objects for GLTO3}

GLSO3

RCLNT [CLNT (3)]

RLDNR [CHAR (2)]

RRCTY [CHAR (1)]

RVERS [CHAR (3)]

RYEAR [NUMC (4)]

ROBJNR [CHAR (18)]

SOBJNR [CHAR (18)]

OCLNT [NUMC (3)]

RTCUR [CUKY (5)]

RUNIT [UNIT (3)]

DRCRK [CHAR (1)]

POPER [NUMC (3)]

DOCCT [CHAR (1)]

DOCNR [CHAR (10)]

DOCLN [CHAR (3)]

RBUKRS [CHAR (4)]

RBUSA [CHAR (4)]

RMVCT [CHAR (3)]

RASSC [CHAR (6)]

RKOKRS [CHAR (4)]

RCNTR [CHAR (10)]

RACVT [CHAR (6)]

SBUKRS [CHAR (4)]

SBUSA [CHAR (4)]

SMVCT [CHAR (3)]

SASSC [CHAR (6)]

SKOKRS [CHAR (4)]

SCNTR [CHAR (10)]

SACVT [CHAR (6)]

AUNIT [UNIT (3)]

DOCTY [CHAR (2)]

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

 GLSO3-RCNTR = CSKS-KOSTL 
0..N

{0,1}

 GLSO3-SCNTR = CSKS-KOSTL 0..N

{0,1}

CSLA

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

LSTAR [CHAR (6)]

DATBI [DATS (8)]

 GLSO3-RACVT = CSLA-LSTAR 

0..N

{0,1}

 GLSO3-SACVT = CSLA-LSTAR 0..N

{0,1}

T000

MANDT [CLNT (3)]

 GLSO3-RCLNT = T000-MANDT 
0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 GLSO3-RBUKRS = T001-BUKRS 

0..N

{0,1}

 GLSO3-SBUKRS = T001-BUKRS 0..N

{0,1}

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 GLSO3-AUNIT = T006-MSEHI 
0..N

{0,1}
 GLSO3-RUNIT = T006-MSEHI 0..N

1

T856

MANDT [CLNT (3)]

TRTYP [CHAR (3)]

 GLSO3-RMVCT = T856-TRTYP 
0..N

{0,1}  GLSO3-SMVCT = T856-TRTYP 0..N

{0,1}
T880

MANDT [CLNT (3)]

RCOMP [CHAR (6)]

 GLSO3-RASSC = T880-RCOMP 

0..N

{0,1}

 GLSO3-SASSC = T880-RCOMP 
0..N

{0,1}

T881

MANDT [CLNT (3)]

RLDNR [CHAR (2)]

 GLSO3-RLDNR = T881-RLDNR 

0..N

1

T889

MANDT [CLNT (3)]

DOCTY [CHAR (2)]

 GLSO3-DOCTY = T889-DOCTY 

0..N

{0,1}

T894

MANDT [CLNT (3)]

RLDNR [CHAR (2)]

RVERS [CHAR (3)]

 GLSO3-RVERS = T894-RVERS 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 GLSO3-RTCUR = TCURC-WAERS 

0..N

1

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 GLSO3-RBUSA = TGSB-GSBER 

0..N

{0,1}

 GLSO3-SBUSA = TGSB-GSBER 

0..N

{0,1}

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 GLSO3-RKOKRS = TKA01-KOKRS 

0..N

{0,1}

 GLSO3-SKOKRS = TKA01-KOKRS 

0..N

{0,1}


